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1 (a) ..Limitations of financial accounting have made the management to realize the

importance of cost accounting ". Comment- Q)

(b) The following information is related to material X:

Maximum Consumption 600 units per month

Minimum Consumption 100 units per month

Normal Consumption 300 units per month

Yearly Consumption 3600 units

Storage Cost 50% of Stock Value

Ordering Cost Rs. 400 per order

Price of Material Rs. 64 per unit

Re-order period 4 to 8 weeks

Find out:

(i) Re-order Level

(ii) Minimum Stock Level
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(iii) Maximum Stock Level

(iv) Average Stock Level (8)

OR

(a) State and explain the difference between cost accounting and financiar

accountlng.

(b) Explain the meaning, control and accounting treatment of the following in
cost accounts:

(i) Waste

(ii) Scrap

(iii) Defective

(iv) Spoilage (8)

(a) Given the following information relating to a garment manufacturing factory

for the year 2022-23, calculate the labour turnover rates under different

methods:

Number of Workers on 1" April 2022 4250

4150

(7)

2

Number of Workers on 31"1 March 2023

P.T.O.
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Number of Workers who quit on their own

Total

Rs

Direct Materials

Direct Wages

Factory Rent 4,000

Power 2,500

Depreciation 1,000

Other overheads 9,000

Additional Information:

Area (sqft)

Capital Value of Assets (Rs Lakh)

Horse Power of Machines

2

Number of Workers who availed golden handshake opportunity 100

Number of workers employed dving 2022-23 '

(Including 600 workers employed due to expansion scheme) 900

(5)

(b) XYZ Ltd is a manufacturing company having 3 production departments X,

Y and Z and 2 seruice departments Sl and 52. The following is the budget

for Aprrl 2022:

Z

Rs

5,000

9,000

S1

Rs

3,000

2,000

300

S2

Rs

2,000

3,000

XY
Rs Rs

2,000 3,000

6,000 3,000

500

20

50

250

80

80

500

80

80

250

10

l5

500

10

25

A technical assessment of the apportionment of expenses of service

departments is as under:
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Service department S 1

Service department 52

x
400/o

6OYo

Y

20o/o

3OYo

Z

3OYo

SI S2

loo

2

lo%

Prepare

(D A statement showing distribution ofoverheads to various departments.

(ii) A statement showing re-distribution of service department's expenses to

production departments. (10)

OR

(a) During the first 45 hour week of July, Mr X produced 350 articles. He

receives wages based on piecework with guaranteed wage for the week at

the rate of Rs. 4 per hour. Piece rate is Rs. 0.80 per article. The estimated

time to produce one article is 15 minutes and under incentive scheme the

time allowed is decreased by 20%. Calculate his gross wages according to:

(a) Piecework with a guaranteed weekly wage,

(b) Rowan premium bonus and

(c) Halsey premium bonus 50% to workman. (7)

P.T.O.
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(b)AmachinewaspurchasedforRs.5lakh.Thetotalcostofallmachinery

inclusive of the new machine was Rs.75 lakh. The following further particulars

are available:

Expected life of the machine 10 years

Scrap value at the end of ten years Rs. 5,000

Repairs and maintenance for the machine during the year Rs.3,000

Expected number of working hours of the machine per year 4,000 hours

Insurance premium annually lor all the machines Rs.4,500

Electricity consumption for the machine per hour (@ rs 1.50 per unit) 25

units

Area occupied by the machine 100 sq. ft

Area occupied by other machines 1500 sq. ft

Rent per month of the department Rs.l600

Lighting charges for 30 points for the whole department, out of which three

points are for the machine Rs. 120 per month

Compute the machine hour rate for the new machine on the basis of the data

given above. (8)
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3. The following cost information relates to the product 'ZX' produced by a company,

for the year ended 31 .12.2023.

10,000Opening Direct Material

2,20,O0ODirect Material Purchases

Closing Direct Material
2,00,000Direct Employee Cost

1,200Carriage Inward
3,800Chargeable Expenses

10,000Depreciation on Plant and Machinery
500Oil & Waste

5,000Motive Power

800Lightirg & Heating
6,200Rent -Factory
1,500Reot -warehouse
1,500Gas & Water- Factory

600Gas & Water- Office
'7 ,200Repairs- Factory

15,000

14,000Unproductive Wages

I ,200Stationery -Works
800Stationery - Office

2,tooDiscount Allorved
30,000Manager's Salary

800Depreciation -Offi ce Furniture
4,000Travelers' Cornmission
2,000Bad Debts

5,000Advertising
1,200Carriage Outward

5,000Adminiskative Overheads not relating to Production

1.000Packing Cost (Primary)

2,100Packing Expenses

7,000Director's Fees

The company produced 10,000 units during the period.

Office Salaries

30,000

P.T.O.
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3

You are required to prepare a cost sheet showing the total cost, per unit
cost and the profit. The company maintains a margin of 20oZ on cost.

( l5)

OR

(a) The following data are available from the cost Ledger of ARS Industries for
the year 2023:

During the year total production was I ,50,000 units. The break_up of prime cost

per unit was: materials Rs 2.20 and wages Rs 1.g0. The average selling price

was Rs 6.75 per unit and entire quantity produced during the year was sold out.

With effect from 1 January 2024, the selling price was reduced to Rs 6.40 per

unit. It was envisaged that production could be enhanced during 2024 by 33 1/

3 per cent without incurring any overtime or extra-shift work, or additional selling

Plant Maintenance 25,000

Lighting 6 300

Staff Salaries 32,000

Management Salaries 22,000
Power (for this Plant) 12,000

Rental for Leasehold Equipment 9,600

Indirect Wages 37,100

Consumable Stores 17 .600
Selling Expenses 37,500

General Charges I 5,600

Sale Proceeds from Scrap 4,200

expenses.
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You are required to prepare statements showing:

(r) Actual cost and profit for the year 2023

(ii) Estimated cost and profit for 2024 assuming that the entire production

will be sold during the year. 02)

(b) A truck starts with a load of 10 tonnes of goods from station P' It unloads

4 tonnes at station Q and rest of the goods at station R' It reaches back

directly to station P after getting reloaded with 8 tonnes of goods at station

R. The distances between P to Q, Q to R and then from R to P are 40 kms'

60 kms and 80 kms, respectively. Compute absolute tonne-kms and

commercial tonne-kms. (3)

(a) Compute a conservative estimate ofprofit on a contract (which has been

80%complete)fromthefollowingparticulars.Illustrateatleast4methods

of computing the Profit:

Total expenditure to date Rs.2,55,000

Estimated further expenditure to complete the contract (including

contingencies) Rs.5 1,000

Contract price Rs. 4,59,000

Work certified Rs. 3,00,000

Work not certified Rs.25,500

(8)Cash received Rs. 2,44,800

P.T.O.
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(b) What is the relevance of escalation clause provided in contracts?

(c) What is a cost-plus contract?

OR

The following information relates to process X for May 2022:

Opening work-in-progress

Introduced during the month

Completed during the month

Closing work-in-progress

Degree of Completion

Opening work-in-progress

Closing work-in-progress

Costs:

Opening work-in-progress

Costs incurred during the period

(4)

(3)

5

Assuming materials were introduced in the beginning of the process and
labour and overhead were incurred uniformly throughout thc process, prepare
process account using FIFO Method. (15)

(a) Ram Enterprises operates an integral system of accounting. you are required
to pass the journal entries for the fo owing transactions that took place for
the year ended 30 June 2021 :

200 units

1,600 units

1,480 units

320 units

Material

IOAYI

lOOo/o

Rs.2,400

Rs. 19,200

Labour

5Oo/o

25o/o

Rs.320

Rs.6,368

Overheads

5OYo

2sYo

Rs.320

Rs.6,368

Raw materials purchased (50% on credit)

Materials issued to production

Wages paid to workers

Factory overheads incurred

Factory overheads charged to production

Selling and distribution overheads incurred

Finished goods at cost

Sale (50% credit)

Rs. 12,00,000

Rs. 8,00,000

Rs.4,00,000

Rs. 160,000

Rs.2,00,000

Rs. 80,000

Rs. 10,00,000

Rs. 15,00,000

(8)
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(b) Explain the importance ofreconciling cost and financial accounts (4)

(c) Write a note on "Integrated system of accounting" (3)

OR

(a) Given below is the Trading and profit and loss account of Priyansh Co' for

the accounting year ended 3 l st March, 2021 '

Normal output of the factory is 4,00,000 unit, factory overheads are fixed

upto Rs. 1,20,000 and office expenses are fixed for all practical purpose'

Selting and distribution expenses are fixed to the extent ofRs. 1,00,000; the

rest are variable. (10)

(b) What is Activity Based Costing? Explain its Conceptual framework' (5)

(o) "ffiq fuq-{ m {tqrfr + e-ilm + dFra fu+-{ + T6€ + qrs* qt reg
G,qr *r" ftqfi dfrqt (z)

5

Amourt (Rs.)ParticularsAmount (Rs.)Particulars
t5,00,0006,00,000

4,00,000

2,40,000

80,000

1,60,000

20,000

15,00,000

By Sales

(5,00,000 Units)

15,00,000

To Direct Material

To Direct Wages

To Factory ExPenses

To Office Expenses

To Setting & Distribution

Expenses

To Net Profit

(re) ffiRea um*.rt rrrrfr x t tffio t:

P.T.O.

t.
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3rfum-drr €Yd

qilirfr sqa

EIrITAT EIqA

qIftfi €qd

+isr{Er arJFT

3fi-+r +.-{* *r arra

sr4?fr fi 6rrrcr

ga: d'f,t a-ci ff s-cfu

Enr dfrq:

(i) gr: S'€r q-r <r

(ii) qa-m do <r

(iii) aDr+met+.w<

(iv) atw ri+. wt

600 {A-e cfr qr6'

196 aF-c cfA ar6

300 {B-6 sfr qn

3600 {A-e

d+. qs ff soo/o

4oo sqi cfr 3n-+{

64 sErt cF 1fc
4 t 8 qqdr6

(a)

BT IT

(o) arm &-+*-r *. ffic Mfi * fi-q qr iril{ q-drEs *t qrqr dfrqr (r)

(re) drlrd rsrfr + ftqfrFq-d + irrt, furr ft fuor sq-qn sq dfrv:

(i)€

(ii) BrqFte

(iii) aNTt

(iv) raaq g3r EFIr:r (s)
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2. (a) zozz-zs * fts g6 ee ffivr ffi + {-cErd ffift*t clqqlt * H Ev,

G.Frq frEr+ + im-rtd "rft"fi efti-ii qt fr rrsmr dftq:

r sr*a, zoze at ryM fr c@r 4250

3r qd, 2023 * 'rk6] fr (iqr 47 50

qq -Erq RH qTe ryM frqleT 300

ier. e!+q' Ei.r EFT 3-6r+ Er+ ryH fr T@r 100

2o2z-23 + ihm Fdfrn {R-mf.. fr $@r

(CRT{ +s-{r * qr<'r ffikt 600 qfi-+l {G-() 900

(o)

(€) xyz Ltd. s6 s;l-ft * ffi 3 3s6a ftqm x Y 3fu z I sfu s +sr ftqFr stsk

92 i1 ffifra6 sr*o, zozz 4 6q {ff *

ZEil

5

XYZS'I52
5. 5'- 5. 5. 5.

2,000 3,000 5,000 3,000 2,000

6,000 3,000 9,000 2,000 3,000

qaer srrrrfr

raqer Fs{tI

fr-getl fu{rqr

ffi

{t-q-6l€

3a-4 3llq$Eq'

4,000

2,500

1,000

9,000

P.T.O
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sfrkfi qrf,srtl:

&*o-a (wrqt 6rc)

$rtrnd'al ifrrm {q (arq 5.)

mfr;fi'€t 3{ea arEa

€-fl ldlrr4 Sj

fiEr Blrrrr 52

l4

500 250 500 2so 500

20 80 80 10 10

50 80 80 15 25

XYZSlS2
4Oo/o 2Oo/o 3oo/o -- 1Oo/o

600/o 3Oo/o -- 1O"/o --

+dr fu{rril t. qd t' lnrsa mr a-+e€r {€i6-d ffiEa t:

iqR dftq

(i) \16 tr-+rrr + frfra GqFil + sHg<r + Ef,-<vr +1 sddr dr

( ii ) +sr frqrr + ra-fr qr yerr+ ftrrnil + T{Hd<ur + wrf+ qrf,r vfi tr-{irr 1 ( lq )

SI2IIII

2. (o.) ger{ * qe-} as Q * q<ra i, fr x} 3so qqfr 61 3jq6a ft-qrr .1 e-g+-

A( e-d + srErR yr +d-{ fi-mdr *, frn+- <Eil-6 + frs cR € a tq} * FerE t
rrRAo-d +d-{ il eq * y-+q. Sq fr qt o.eo tq} *r cfi er( q-{r+ ET u-{qrfr-d

vqq rs ft{d t Bfu *-{16-{ A-d-{r + itn-fd ftqi lrqr qqq 2oyo.,re. frqr wrr *r
ffirfrq-d * qnt i(ff qm-f, c-s$ fr qrr{r $1frq.

(o.) m-ft5 trtwrF*- rq$ + <rrr ft€ {d,

(te) -f+<fifrqq+{{ dI

(u) ,rffi d so% ffi ftR'qq ++tl (z)
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(re) v+ afl-r s erte tqi i tstfr rr€r a-{ cfi-{qE-d Ert qffi fr 5a arrrd zs arce

tc+ eftr ffikd Bfu G-c@r g.rirer i:

cfi-{ fr m+R-c sqq}Fm orsET to sd

q{ s{ fr qfik .n Br-dFE {€ s,ooo tq}

q{ + Elir+ qfi-{ fr.rcra silt t<e-rrsrs qr rq{ s,ooo tc}

rtrlT srffi-6 BTTLTR -rr ertErr a,ooo qt 6rS 6-<fi t

qft cffi + frv qrff-ir frqr ftft?It +,soo w} *

cfi-{ + frs yR qt ffi fr wq-o (@ cfr {F-c t.so w}) zs 1F-e

qfi-+ enr ir .rqr *ma roo e,l qte B

36q 1ffi anr *o rrqr *aqa rsoo qrt fi-c A

trrnrr 6r qrfu6 fr-{qr 1600 {c} ir

t furlr + so qr5<F * ftq e-ffr urm, ffi t A-;T qr<s rfi-{ + fts *, cF
qra rzo wt *r

i{-ff fts rtq srffi- * mtm l-t {g qft{ fr qff{ s-cr E( fr rrarqr frftgr
(e)

3. fitefrfra6 96 qffi rra sertrr s+rr< 'Zx' fr arrm qr+ort + trr + +, fr st.rz.zozs

d qqr< Es s{ + <ttr+ fr'qr rrqr *r

P.T.O.



qr\tB-a rgqr qrrrfr 10,000
q;qe{ gr,rJfr si-6 2,20,0OO

riftq s-.qsr Frfl-rfr
g;qqr 6rt{lt Frrrrd 2,00,000
qa6 gr+*' 1,200
qrT* ETq 3,800
:dziT 3it{ qeH w q-s-6rs 10,000

3fi-{d 3ft{ sraRrc-c 500
rrEa qr+r 5,000
algfr?r 3itr BBJI
fu-tt?Tr -$Fcfr 6,200
fu-<rqr sro-eirqm 1,500
its 3ik qrff - qracft 1,500
,tq :it{ qfr - 3fifr-€ 600

a5p56- $-6atr 7,200
3fift-s idd 15,000

lq;wro ra-qtr 14,000

€RH€I- 6T-4 1,200

eardt - 3fifu€ 800

:ra*q E-cer 2,100
cttr6'6,if,fr 30,000

il€6rs -3nfu-s s-frq{ 800

td-aq +'i o-fierm 4,000

3rttt-a 4u1 2,000
G-ilqfr 5,000

ga$ sr++' 3,200

cqnsfro s@-ss at i?qrq;r t d<ifud a-fr R 5,000
tfr;r arera (werE-+.1 1,000

tBilr aq-q 2,100
frllm fi 6re 7,000

2470 l6

eqft i gs irqE + Etrt ro,ooo qfte eiT 3er+r fr-<tr

$rq-+l w Hrrrd fl-. tqR 6-tff + ftrs+ ge errn, vR aF-c ar.m *t enr <qfqr ]rqr dr
effi rnrm qr 20% rfir qTffT E{rq <{ft *r (rs )

30,000

800
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tsrzl.tt

(a-) ffifr+r to ens Esqd + s{ zozs * arrrc €r+ t vr< gsn *:

{:l-t 6T {g-{eEr 25,000

dr{Ro 6,300

affi aT iaa 32,000

qd'tra ar d-a-a 22,O00

ffi (trT * frr,) 12,000

q--c- drfr Jc-filvil n fr\r trt{qr 9,600

$qsqr rtr(a 37,100

jq?nTq Fct6 17,600

Em-q e{q 37,500

€rfrI;q w}{K 15,600

$-dRrq ffr G-6r € cr-d {rf* 4,200

sd + <to{ Ed yflrdl{ l,so,ooo qfter 1r drrrfr cR {E--6T frsnw+ qr: qrtfi

z.zo wi or}: cu1t r.so {c}r eicc ffi ae cR {F-c o.zs tv} m utt $ ad t
fffi{-d trt qn tq fi rr{r r wc-qfr 2024 +, Gfr 1a + sfr {F-c o.ao tc+ qr

frqT \qn z16 Brgrn;r drnqr rrqr qtft'zoza +G-{rffi oie€r{c q *6pua sTt
* o-rq q-tt, qr orRftm Ffi qq * uerr+ d 33 173 qfr{rfr qa-rqr w rr*-ar il

ilq+ t+ fr"dioT AqR qr+ B ftH+ ffiA{n e$tcr.rql d'

(i) a{ zozs + frq q<k6 ar.rc *t anrr

(ii) Tr B-flrc-{ sf + arr{ +dr 
"rrg.n 

z16 qrt+ Es, eS zoza + frq irgqrh=d

mrm *r anrr (rz )

3

P.T.O
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(re) \-+ fo €rm p i ro r+qrqr+ sir +s +6-r qcar *r qa Qrr+ e vt 4 e{qrcm
wrcr t 3fu qrfr qrqrq e{r+ R rR yitrdr tr €trt R .rr I z=r rtFrr< ftT + +s
fi**qreq6fr**srrrPqrarwrgwr*r rt q, e+ R dt{ft-r nt pfr
Et Eftr' 40 ffi, oo ffi *t so Giff il tq-q ?T-ffi eit qTFrfu+. r+-ffi
qi rrunr dfrqr (s)

(r+) ffift*6 G-{to} + \o. s:Ea rR .flar 6r g+'qftft'-o ir1{r;r drnq * eo, gn *
3or il arrr fr rror<r * frs qr{ t q-c a EM <qt{s:

3rsft ilfi yfr qq

3r.ddtr Tir f{e *. fr(r 3l1rqrf+d rnif i qq

1:r+fuo uft-ay

:ryiu *l Aa
e-qrFrd 6r+

sre-ErF-d 6r{'

qTEiI ;Ifi'E

(re) r-+ot} i frc rrv gk la-. m rrrs @r *?

(rr) ann ifu a-{qtr wr *or *?

3{2I cII

fiqfufrc-d'crr*rt T€, zozz * frc ckqr X + qffirfr +:

5. 2.55.000

s. 51,000

5. 4,59,000

$.3,00,000

5.25,500

5. 2,44,400

(s )

(a)

(s)

elifi-fi qrq616

T6ri A *{ra T5 Sr 'r+
F&i + at{T-d {t 6I :r5

:ifta aq +16

2ss {F-e

1,600 {A-e

1,asq aa-e

320 {*e
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grqzn

lOQo/o

lOOo/"

r. 2,400

5. 19,200

Etr ati +r w*
mifi-* qr{ +16

sifra-aq+'16

FIT4II:

qria-d' qrq 616

3rdfu *. E1\rfl afi arrm

8rrl

50o/o

25v"

3i4€s

5Qo/o

25o/"

5. 320

5. 6,368

5.320

5.6,368

(a)

(a)

5.

rr{frftqft{rrfiq',}yBqrfrgrsrrotrc(ftqrrrqr qT *r dq iir ffis
R vBqr + <r+tFr Gtt t gar vr, !.n3rT{s5* Efu 61 vq+rr q-r* chqr rqrdr iqR
dfrsr (rs)

(m) rrt ffi v*' qot fum-{qq-fr qiT <-qrm{tn'<tn lt sfid 30 Er, 2o2t !*
qqrq s{ + Rs g€ ffifr+o ffi + fts c-+d yEGed qrRr orfr d:

*ut qra fi stE (50% 5rlR q{)

ticrq;T 6l arfl Trfl"fi

aft-+t s) q-{d a-d-{fr

*rcfr *orts ETq

ric,6d *) e$Trfud Er€t 3{fd!ds

f{SI 3itr i+a-tur s,ilil$s erq

Errkr 5{ tqR qrd

fufir (so% JrrR)

s. 12,00,000

5. 8,00,000

{. 4,00,000

{. 160,000

5. 2,00,000

5. 80,000

d-. 10,00,000

5. t5,00,000

(re) arrn Brt ffi <sr+ * {qrtrr{ * rrq * sq frfrqr

P.T.O
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(") "t1lt Mo+ y'n-ft" q< v+, ftqfi frtuqr (g)

ET?-[EIT

(a) ft<RR+r ffir o.ffi qr st qrd, zozt d tqm M6-{ sd + ftq qicrRn *t
dpr irerl erft rerm ir

kflq rr;mft] (r.) lfif,tor rr{{rer (5.)

q-gqr grsrfi 6)

vaer rrqft +i

s-rstr qq +i

rifr;o aqq 6i

Bfir 3ik Btr{ur sli

ft-+a an+ +t

6,00,000

4,00,000

2,40,000

80,000

'1,60,000

20,000

f+fi r-onr

(5,00,000 {a-e)

15,00,000

15,00,000

MqrqrqrqrerE+ 4,0o,ooo lFc ort, ffi+ eiqtqs r,zo,ooo {c+ (fi
ftrtfril + ertt frft-s qq {S qr+trRa sM * frq fiFrrn *r Gffi eit G"mur qq

r,oo,o0o wt e+'frfr+o l; Erfi ra-{ qRq-ffrq +r (ro)

(r*) ffiftE-aurRr drrfi Frr e? Ea-+ srRUnFrFr ari d eq dfrqr (s)

gN Er),t
I

hi-

-)

fr
+

\t
*

COLLrJ

ir

ew Del

(200)

20

I

I r s,oo,ooo

,i,


